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QID : 601 - Adolescence is marked by development of the faculty of

Q6412 @ QQIFEY Q FRIE FIQI 5T *RUAIRANI

Options:

1) abstract thinking
QAR S

2) visual imagination
Q84 @9Q!

3) motor development
6719Q Q16!

4) hand-eye coordination
Q16 AZ0 AY Q AN

Correct Answer: 1)  abstract thinking
QAR S

Candidate Answer: 1) abstract thinking
ARy GBI

QID : 602 - Based on individual differences, Jung classified people into groups.

QUBAG ARG URINEA AIRERR VT SRR ARG q 6Q A41ge KGgeR
Options:

1) four
QI

2) three
oa

3) seven
e

4) six
22
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Correct Answer: 2) three
@

Candidate Answer: 4) six
22

QID : 603 - According to , child development occurs in a series of stages focused
on different pleasure areas of the body.

& 29QI6a AN IR FA1Q @ FER AR VA 689G YFRER 62GS 9RE G 6@ 62IRANI
Options:

1) Albert Bandura
2RSS 2QQl

2) Sigmund Freud
o8 699

3) Erik Erikson
0 Qe

4) Jean Piaget
@Q daleaQ

Correct Answer: 2) Sigmund Freud
Joqs 699

Candidate Answer: 4) Jean Piaget
@q daeaQ

QID : 604 - is the period between age 12 to adulthood when people develop the
ability to think about abstract concepts.

666626 6AIR ClIER FARIQ QRUIQS FER TTAER 531 FAQIQ FAVIG FRTC FAT 6A6ERER
6238 1@ QMK 6JR26R 12 Q¥ QAL Q QUG IP6R Al AB AR 6T

Options:

1) The Sensorimotor Stage
62°QAACANTR QG

2) The Preoperational Stage
geaea! 2egl

3) The Concrete Operational Stage
PGS 2AUCAARIR A

4) The Formal Operational Stage
3a0Iae 2U6QARIM ALK

Correct Answer: 4) The Formal Operational Stage
A0S 2A6aARIM 2Qg

Candidate Answer: 3) The Concrete Operational Stage
PGS AACAARIR A
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QID : 605 - is the period of time between birth and age two during which an

infant's knowledge of the world is limited to his or her sensory perceptions and motor activities.

89 6 92 9F QA ABEA QI AU 26T, 699 ATLER QR AT6R Y Q RIF FITIR
Q°6RARHTR ARG G QIE SIY AR AITS 263

Options:

1) The Sensorimotor Stage
62°QAACANTR QG

2) The Preoperational Stage
geeal 24l

3) The Concrete Operational Stage
Q@%‘ 2I6QLIm ALK

4) The Formal Operational Stage
B9010% 2ACQARIR AQQ!

Correct Answer: 1) The Sensorimotor Stage
62°AR6AITQ 2R

Candidate Answer: 1) The Sensorimotor Stage
62°QAACANTR 2RI

QID : 606 - The transition between childhood and adulthood, a stressful period of life
characterised by discernible physical, mental, emotional, social and behavioural changes is
known as:

IRIERR B 6RICAIRALY FE6R AAAR, FIFR 1@ FRIGd AN 26T IR GINAR, AIFER, AT 6
QeLIRGC AALER AR 6LIR2AN, GI2! QUEQ SN

Options:

1) Student life
219 919Q

2) Adulthood
QUL

3) Adolescence
6@164IQ R
4) Youth

ge

Correct Answer: 3) Adolescence
6Q164IQ 1

Candidate Answer: 3) Adolescence
6@164IQ R
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QID : 607 - Who proposed the sociocultural theory of learning?
@9 891 AR AFIFA°YE Q gIIQ 6QRYEN?
Options:

1) Erik Erikson
0e Qe

2) Albert Bandura
2RSS 2QQl

3) Lev Vygotsky
6AQ 6RIEGIG

4) Jean Piaget
@Q deleae

Correct Answer: 3) Lev Vygotsky
MR 616N

Candidate Answer: 3) Lev Vygotsky
AR 6QUIETNR

QID : 608 - Socially, adolescence consists in shifts from dependency to

AFIRS QU6Q FEHIRALG ARSI Q 3 AR 68 QIR
Options:

1) autonomy
U

2) slavery

gmic

3) subservience
QAR

4) indifference
AL

Correct Answer: 1) autonomy
U

Candidate Answer: 4) indifference
AL

QID : 609 - suggested that parents, caregivers, peers and the culture at large

were responsible for developing higher order functions.

Q2Ie 69926R 64, AIGITRI, 6391 ARSI 13, AR 6 6 A6R A°YE AT 26 QI

q6q Aede aGel AR QIF 263!
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Options:

1) Erik Erikson
QR 9Qge

2) Albert Bandura
ARG QQA

3) Lev Vygotsky
AR 6RUIEAN

4) Jean Piaget
@Q daleae

Correct Answer: 3) Lev Vygotsky
6AQ 6QIESNG

Candidate Answer: 3) Lev Vygotsky
AR 6RUIEAN,

QID : 610 - The Government of India, in the National Youth Policy, defines adolescents as
years.

QG AARIQ AL @ Q166 68IQ ARG Qd Qaeq afQIBe aQaII

Options:

1) 10 to 24
10 @ 24
2) 13 to 19
13919
3) 13 t0 23
13923
4) 120 16
12916

Correct Answer: 2) 13to 19
1319

Candidate Answer: 2) 13to 19
13Q19

QID : 611 - are those that occur automatically and reflexively, such as pulling
your hand back from a hot stove or jerking your leg when the doctor taps on your knee.

Q12! 62IR2N, LIZIF PTG QUEA 8 YEIR QUCR 62IRAN, L2l HF 21 AN
6810 Q 618 21T Bl YIBQ AIAEF A06A U FRRI AANER AID 6C1BA ARG
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Options:

1) Operant behaviours
dEIre QUL

2) Respondent behaviours
YETAUENR YQRIR

3) Imitations

Q@am

4) Observations

AN

Correct Answer: 2) Respondent behaviours
JETALIR LR

Candidate Answer: 3) Imitations
Q@am

QID : 612 - Asking a student to run around the school playground for coming late to school is an
example of

@641 813 YA 6@ TRY 6Q 2RI 649 IR Q 631R AG YIRATIER 6T1GA Al RIS Q

@ QQILE! 26T

Options:

1) negative punishment
aRAND @&

2) positive punishment
dRIQAUNR @&

3) negative reinforcement
@U@ 6T

4) positive reinforcement
AR 62Vl

Correct Answer: 2) positive punishment
AU @&

Candidate Answer: 4) positive reinforcement
d@IQde 61

QID : 613 - is based on the assumption that all learning occurs through
interactions with the environment.

& QG QU6Q ARG 69 ANY FFE QIIRQE 2R FIIFER 61N
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Options:

1) Behaviourism
2IeQE

2) Constructivism
QLRIUQ

3) Cognitivism
6RRISERI

4) Humanism
AlRQQlQ

Correct Answer: 1) Behaviourism
IO

Candidate Answer: 1) Behaviourism
2IFQE

QID : 614 - Unexpected academic under-achievement, or achievement which is maintained only
by unusually high levels of effort and support given a student’s age, schooling, and level of
intelligence are called:

QUNE 2=0e AR SRl A AINE AR 6297 SIGR AN, YR 6Q 6222 A B IRFIGI AR 69
AR QUER AP R6A Y6OSI 6 ANIR FIRI GFIA AYRIQ QRICIR2INI

Options:

1) Neural discomfort
Qg AQRIL ARl

2) Subject failure
AR YT

3) Systemic failure
IIR1Ge FTRG!

4) Learning disabilities
&gl 2080l

Correct Answer: 4) Learning disabilities
Ja1 206!

Candidate Answer: 4) Learning disabilities
dal aaqeel

QID : 615 - A disorder which is usually characterized by a significant discrepancy between higher
verbal skills and weaker motor, visual-spatial and social skills:

4@ GRI JI2I@ ARINEES A 6719w 6T19R 3 GaR 67169, QEY-AIAR 8 AINITD 6AlER Ao6q 1@ A12QYL
0R0l Q G669Q
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Options:

1) Attention-deficit/hyperactivity disorder

e 2AQIQ / AQAS! FRIQ

2) Non-Verbal Learning Disabilities

Q0 @8 JgQI6a AV

3) Central Auditory Processing Disorder (CAPD)
6@91A 994 6916Q3° F@IQ (CAPD)

4) Language Processing Disorder

QI YFARAE FRIQ

Correct Answer: 2) Non-Verbal Learning Disabilities
A0 QF JYIER AV

Candidate Answer: 3) Central Auditory Processing Disorder (CAPD)
6a91A 994 6916Q3° IR (CAPD)

QID : 616 - According to Bandura's research, which one is NOT a factor that increases the
likelihood that a behaviour will be imitated?

QAR AQANIR AUGAICR, RIFTIAR AN FAUDFIQ AAIR QTR IR FJER FAARYR! FRIQ 6RRE 4@
Q0@ g6L?

Options:

1) When you have been rewarded for imitating the behaviour in the past
66066 2y URNGERA QLI Q Fam G?@&QI AR JRe @Qldineml

2) When we lack confidence in our own knowledge or abilities

60606R6% 2IF G QEEA RIR @Yl VAGI 62 QG Q AL CRIRR

3) People who admire us or who are subordinate to us in social status

699 6RIR F1I6] 2FIa gA°4l QLR F¢)l 692 AI6R ALIFR FF6Q 2R 2AE l6R
4) When the situation is confusing, ambiguous, or unfamiliar

60606965 G0 QIAR, 2T Al AAATS 62IRYQ

Correct Answer: 3) People who admire us or who are subordinate to us in social status
699 6RIR FI6R AR A°GI AR Al 69Q 6L AITIFR FF6R 2R 2D 26M

Candidate Answer: 3) People who admire us or who are subordinate to us in social status
699 6RIR FI6R AR FA°EI FQEM Al 69Q 6L AIFIFR FGF6R 2R 2D 26M

QID : 617 - A child watches his mother folding the laundry. He later picks up some clothing and
imitates folding the clothes. This is an example of

601N Il FeQ AI'g QI RUGIR 6QgMII T ATLER 64 &8 FUQI § QE0R AR FaR FORI1 Ll
Q @ QLA UGS
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Options:

1) discovery learning
AGANIR @50 S

2) intuitive learning

Aee |19 g9 4l

3) observational learning
AAIVGYD

4) classical conditioning
QAR §3

Correct Answer: 3) observational learning
VYD S

Candidate Answer: 3) observational learning
AAIVGYD

QID : 618 - Who proposed the theory of Trial and Error Learning?

SNR 6 9eQ JFIQ AV Q YR &1 6QRYEM?
Options:

1) Alfred Bandura
2ImMETe Q@9

2) Jean Piaget
@Q daleae

3) B. F. Skinner
Q. 4. T6aQ

4) E. L. Thorndike
Q. M. 62I086a

Correct Answer: 4) E. L. Thorndike
Q. M. 621086@

Candidate Answer: 4) E. L. Thorndike
Q. M. 6286w

QID : 619 - indicates that in any situation of learning, people are actively engaged
in making sense of the situation — the frame, objects, relationships — drawing on their history of

similar situations and on available cultural resources.

A°6RG 692N 69, AR 66T Tl FFEQ - 657, 9, AR - AAQ ARG JLR6R A9
AL AU6A AR ARFE 6 QAT ALYER AP QAR 6AIR 67 AR QUER §F 6 EIAEIG QORI

QAYRIER TS|
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Options:

1) Learning as construction
e gaea dal

2) Learning as meaning making
28 eRIRel Qa6a Sl

3) Rote learning

QR SIS

4) Formative assessment
QAR (MR

Correct Answer: 2) Learning as meaning making
28 ARIRe Qa6a Sl

Candidate Answer: 4) Formative assessment
QPRI (RIS

QID : 620 - According to which approach "the role of the learner is conceived as one of building

and transforming knowledge"?

672 986@I¢ A9AI6R "GRILITA gAal @ HFIE 6 RIF @ ARIRR FIQ 691G QO FFAER K94

eAUAIRRI"?

Options:

1) Humanist
AU

2) Cognitivist
AUQRAGIR1

3) Behaviourist
LI

4) Constructivist
QARG

Correct Answer: 4) Constructivist
QAR

Candidate Answer: 1) Humanist
AL

QID : 621 - Who popularized the project method of teaching?

@ SIQ1 Q 691699 S § 6RIRTN @6aREM?
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Options:

1) William Kilpatrick
QANAN FRATR

2) John Dewey

°q G6g

3) Dillenbourg
oeRaaql

4) De Vries and Slavi
@ 999 8 Q@

Correct Answer: 1) William Kilpatrick
QARNAN FRAYTR

Candidate Answer: 1) William Kilpatrick
QAN FRANTR

QID : 622 - is a list of planned learning experiences offered to the students
under the direction of the school.

M @ FERIR 60 BIQ ARG FAUYIRYSI CAIRFISE TV 2GR IR o1 26672
Options:

1) Learning objective
Q1 Q8R!

2) Learning outcome
2GS AQEIET

3) Curriculum
Q041

4) Syllabus

AIoYGS!

Correct Answer: 3) Curriculum
Q041

Candidate Answer: 3) Curriculum
Q041

QID : 623 - An is designed to determine a student's potential for success in a certain
area to help them determine which types of career they might be best suited for.

@ @ 4@ G480 690 60 ATRGI IR NP TG @ VG § FFIAY FARER ALY KA AR
PFIR% FALIRYMN, ALl AIR N2 FFAG FRAUURARR 60 629 JAAQ MIGAQ AQOIQ AAYS 6LIRAAIER
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Options:

1) achievement test
QAT A1

2) aptitude test
LI AU

3) intelligence test
9FAGIQ A

4) auditory test
Q8 gl

Correct Answer: 2) aptitude test
QLI QI

Candidate Answer: 3) intelligence test
9FAGIQ A

QID : 624 - In which one of these approaches, students receive information transmitted from
teachers or other sources of information and memorise them?

7069 QARSI FIQ 626 QRERIY, I AI66 F8@ @l ARYIFY 6915 Ol AOINIRR IoF! 967 919
Q2B 6 6QAFF 168 QB?

Options:

1) Teacher-centred approach
9@ 6250 QE6RIE

2) Learner-centred approach
AR121 6259 QReaId

3) Subject-centred approach
Qg 656 Q3618

4) Learning-centred approach
S9N 6@5% QTERIS

Correct Answer: 1) Teacher-centred approach
9 6050 Q8614

Candidate Answer: 3) Subject-centred approach
Qg 646 Q3618

QID : 625 - In which one of these approaches, students learn through experiences and reflection
on learning tasks make meaning and construct knowledge ,thereby gaining conceptual clarity?

FIRYS I 699 QRERIE FIQ 661G, BIB FI6R YRl QY FERa A9ee 8 gBaY ARINER JgeIRIE; 2
QITIQ *R2IIE 8 K18 Gl @Q2IIE, LTI AV 1Y 62RIN ?

12/71


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

10/8/2019 Odisha Teacher Eligibility Test
Options:

1) Teacher-centred approach
S8R 6056 936l

2) Learner-centred approach
JR1d1 6259 QReaId

3) Subject-centred approach
Qg 60459 QT6aldl

4) Learning-centred approach
FQ1 6050 QRIS

Correct Answer: 2) Learner-centred approach
Ja1El 6250 Q8eRId

Candidate Answer: 3) Subject-centred approach
Qg 60459 QT6aldl

QID : 626 - is a democratic method involving student participation to consider
various facts about the topic under consideration, which stimulates students' thinking process to
analyse and present their ideas and facts clearly and fluently.

4R 6RINGIAR IR 26T 6IRL6R FVIRE FEA FTAER FER Gl AT6Q FRIR KA
dIQ 818 FIREA QLA AFR 26T, AILIF 818 e §0Ia il @ G69.948 @aal 8 fIea Fola 6 Ga
959 99 6 N AR Jade 209 Ui REAGS @RI

Options:

1) Demonstration
gode

2) Group Discussion
Qr]Q 6Q ISR

3) Seminar

60

4) Lecture

QIS

Correct Answer: 2) Group Discussion
de)@ 69 MR

Candidate Answer: 3) Seminar
6Q0QIQ

QID : 627 - is a student-centred method of teaching involving spontaneous
acting of roles in the context of clearly defined social situation(s) by two or more persons for
subsequent discussions by the whole class.

Q°gd QIF6A ACRGR AR §R B NS MR TR AT QUIER AT AR §F
QA0RER PARI PRq AaR AITINIA AEG AITR el TV Q IR BIQ 6@F QI AT
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Options:

1) Symposium

TR 69181

2) Seminar

6Q7RIQ

3) Role Play

dl 6q,

4) Group Discussion
Q)L 6Q ISR

Correct Answer: 3) Role Play
QAR 64,

Candidate Answer: 4) Group Discussion
)@ 6Q MR

QID : 628 - In a/an curriculum, learner is placed in the natural setting of the community.
N AIOIFE 6Q TS B AANF Q YIYES 6AG° 6Q QSlIQIRN]
Options:

1) competence-based curriculum
QA 2ARIIAS AIOYFE

2) experience-based curriculum
AQEQ RIAS AI0YFS!

3) subject-oriented curriculum
FEQ 2RIIGS Ao

4) learner-centred curriculum
diglel 6aGe Qloige

Correct Answer: 2) experience-based curriculum
AQEQ RIAG AI0IGE!

Candidate Answer: 1) competence-based curriculum
AAB 2RNAS AL

QID : 629 - When a teacher constantly makes decisions about teaching materials and methods,
based on a number of factors which include the subject matter to be covered, the needs of the
students and the overall goals to be achieved, the teacher performs a role as a/an:

G99 9g Q AR QAL QI UEAR NP Y2 URINER 6ICRERER 8681 TR FJS AIFIGT 8 G FVLER
QIS VA Fela F2Z, 6069 IS FIFTA AR 8 AR ARG A ATY AV VR FAR K64
Q196 ARl Qe @RIB

202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbe04e5&q=0DdmYjJmNzIONGM5YzA2ZjcwM,;. ..
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Options:

1) Motivator

690@

2) Instructional Expert
AQEQSNR F6AIR

3) Facilitator

RIS

4) Manager

el

Correct Answer: 2) Instructional Expert
AQERSNR F6ATR

Candidate Answer: 3) Facilitator
gRuIa

QID : 630 - mode of learning is activity based, where the learner learns as a
result of action process.

YRl Q QR QY ARG 26T, 62016Q FFEIRl 1B ADIGFAR ARGNA QD Sgtel|

Options:

1) Enactive

aaq g agete
2) Iconic
2RRGR

3) Symbolic
ACFGR

4) Interactive
AQIAUAR

Correct Answer: 1) Enactive
99 GAIe A

Candidate Answer: 1) Enactive
aaq g agete

QID : 631 - 629 984G @ glafie FaUIfIes AR e AFH1S? i) Fg5 eI Faadq Aad dYE o
QU6R IF T2 i) FET RIS VL AHNER 663 2D FITF|

Options:
1) 699R i.)
2) Q9w ii)
)
)

3) Q@@ i) G ii)
4) 4 Q994GPR gUfe 21 AR ARY|

Correct Answer: 1) 6@9@i.)

202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbe04e5&q=0DdmYjJmNzIONGM5YzA2ZjcwM,;. ..
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Candidate Answer: 2) 6@9® ii)

QID : 632 - 64 QQuidl gSiaQl @2l QBAIRRIQ AVC @ g6<, STl A8 KRRl AR F67IB FRIQ 62RG 1@
Q8¢ RIS AW AGFSS?

Options:

1) 69} AR
2) 69IR RAIFR
)
)

3) 99Y69RE
4) aQYIERISR!

Correct Answer: 1) 6qIQ Y9QIQK

Candidate Answer: 3) Q946994

QID : 633 - QISI AGAIGR FYD AR 6Q6R, AURNS GELIRRTL RIQEQ AASEIF|
Options:
G6aq'A @Igl A\l

oQ daq deIe

1) 366
) 68
) doeeq'a daie
) @a

2
3
4

6018 AT Gqe
Correct Answer: 2) 620Q 999 d9I18

Candidate Answer: 4) QJ6QI2 QA SR8

Q2 @RQ 621NN
Options:

1) QSR QuIea

2) QUI6Ql, RIFR

3) 681, Yl

4) A6, 69199

Correct Answer: 1) RUSQ, QUI6Ql

Candidate Answer: 1) RISQ, QUI6Ql

QID : 635 - G6Q4I1 QY 616 RIS AL, QG Gea6Q QIR

202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbe04e5&q=0DdmYjJmNzIONGM5YzA2ZjcwM,;. ..

QID : 634 - 1g66QdQ &&° gIal 52l K99 62PN, 6J60696R @ R6eqdq 86° glal
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Options:
1) RC696273Q
2) AQRIAY

)
)
3) Ng694R
4) Q64949

Correct Answer: 4) Q6449

Candidate Answer: 3) 4966239

QID : 636 - QAQITIEQ 6RIR 659 FIUIER G2 TIFIAR KGN
Options:

1) 6699 ARTEAER]
2) 6999 Q0

3) 6g&°

4) 3694 606NIEFE

Correct Answer: 2) 6999 €299

Candidate Answer: 2) 6599 €Q0Q

QID : 637 - 6¢19@ QCKITR! A¢)l JRIR 6@ FELIB FIQ 676EY 2SS G627
Options:

1)
2) QIR

3) DI0YQ ARG
4) QU6QIB ANY Qe

YRR

Correct Answer: 4) QJ6QU2 A71Y Qg

Candidate Answer: 4) QJ6QI8 AAQ 328

QID : 638 - 9RAFIR I9° LAV 6AYS! FIY, FEAIB AIQ 696 FAIQ JRIFFR 2BHS 62IRAN?

Options:

1) AS-671g@ U
2) Age NIER

3) 6€llg@ QAQIAQ!

4) Q°8g 48N

Correct Answer: 2) Qe auIee

17171
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Candidate Answer: 2) Q¢ qauiee

QID : 639 - Y@ 6QIF6TINGEQ F67IB AU 699 AAF! AAR FAILRAAIRL?
Options:

1) gQde AIRQE

2) Q°8g 541

)
) =<
3) 6771¢1@ QALIARIQ 6QRE°
4) QU6QI8 ACIY TR

Correct Answer: 4) QJ6QIe A71Q Qg

Candidate Answer: 4) QJ6QI8 AT IRF

QID : 640 - AYS JAIFAER FEAIB IR 6205 ATR FAVRAIRS?

Options:

1) QAQ 69916Q FRAGIA TULR
2) 89!
3) QloYQ AGRIQ

)

4) Ql04q 2IKeIeq !Lal
Correct Answer: 1) 2@Q 6QQ16Q {12QCIQ 2JIAR

Candidate Answer: 3) dIO4Q QURIFIIS

QIS 621987

Options:

1)
2)
3)
4)

eaI8e 9@
|3 99
dQ1G 98

aQ
g%
29
QAAIeieRRIR gmM@a 99

Correct Answer: 2) 9I2 49

Candidate Answer: 2) 9dI2 99

QID : 642 - 0Q 2@Q A2 IR JoEl @ 6L 2T

QR QAUA AT ARSI
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Options:

1) 2eigd
2) QR
3) Qe
4) G6R4

Correct Answer: 3) Q694

Candidate Answer: 1) 818]9.1@

QID : 643 - 396Q 692 JRIAQ A JRIF AAULRE GI2l 536 K9G | 9671 2’4l 63lIga?

Options:

1)

2) 69109 QI
3) @GR QIRY

4) 94 9o QIR

Ao U@

Correct Answer: 4) 94 4902 QIay

Candidate Answer: 4) 94 4902 QIa4

QID : 644 - 0] @9 Il §RLIF Jad @agl
QAIRIFI0l 6AAIER Fea gIGAIR A% @RS AN SIATLER 8 RQY CIN0R B8R,
99, QINIGPR 9T @98 |

Options:

1) 0g-QdQ 98%

2) QUQ-QUQ I8G

3) 0Q-0n ARG

4) QAQ-OR A8G

Correct Answer: 1) ©9-QdQ J8%

Candidate Answer: 4) QdQ-0@ 986

QID : 645 - 36712 696 RFG! FRAQ ARIIFIY AULS QIR RYS ?
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Correct Answer: 4) QJ6QIe A7Q

Candidate Answer: 1) @9l

QID : 646 - @ FFIEQ YRIQ 9T QUER YATE ?
Options:

1) Q698 C12I3

2) TFR1Q 6L12R 6QRIAG

)

)
3) JRFIIQ 6718Q
4) 6QINRIe Q191

Correct Answer: 3) Q&fIRIQ 6712

Candidate Answer: 3) J&FlJIQ 6612Q

QID : 647 - J60g 71213 694 $9Q AITIQ FaFl AR :

Correct Answer: 3) 491Q

Candidate Answer: 3) Qq@

QID : 648 - 639 QUMY AR 19746Q 6QITIRIE ARIFF RIFIAI0 YA FAAIRAR ?

Options:

Correct Answer: 2) <G 79I

Candidate Answer: 3) do@l

QID : 649 - ARIAATG 6QQ1E AITFY IR JA/Q Y6AG FI2EF GIFA 67Q AARIA AR FAAIRAR:
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Options:

1) QYI6REI16Q ARl
2) 2IF1RIQ AFLAIAY
3) QlRIg G0

4) Q1R6de

Correct Answer: 4) QIa6de

Candidate Answer: 3) Q1915 Y29

QID : 650 - IR1Q 67125 6QRITFT @4 “6FHIQ 6910 7 J1d@ caagem ?
Options:

1) @ADGI QIR

2) GQQ. 66. Q. gRER
3) 0QQ. AIRIQA

4) QRIKI QUL

Correct Answer: 2) @QQ. 6. @. 9MGQ

Candidate Answer: 1) @A9QI QRQRQIQ

QID : 651 - G¢J6Q JIQ KAULIRYQI FIQYI°ITQ DL N9° 07 496 Qe F2g!

AR FAQIG AIFER 22 AQR 84 69 62N | F6R QAR TG @8 6ATF 6N @ 62IR AR RURE
T25Q 999 YN AARAIFER 2R A6R VS 6228 64 A

QeI G T6QIHT 6T9RG QIR KAAIR CAHIKIRYMI- 62 FIRP AIFEER; G2l VIFUER; GR2AG FQ
6QR2ER| QAT 810 ATEQ AgAMI NQ° ALRINI| 6I6R 6367 62 6NFAMII F6R AIUIGI 621 62 6RYYRIAI
6Q6R F68 QUG ATRI GIF RIEQ 2RI 6MEH 62IRZQT GO LR 66!

6232 QIP6Q ROl FOT 6RYMI Ie° QISR AICE IR AR §F 6JI606R6R 61 AUGER FREIG
69IR9IQ G, 69 QF AR FIIG! ARl 64, G'A AFIR JAIR ILIR AVILRER @ ALY 12 A6Q QEal
MRYYA NN IG° 6TAR 697 6N QA 62R1Q AND 6LRAAIRYN 62 Q¢RI AARAITER 2RI AT
ARIQEQ 2T, SNl AT 6Q716R IR AIRSEI

6J606Q6R 61 G 6R10Q1 GGAY JIT RN, 6AYRI 66 QAR TO Al 62IRG- 6ITRER SI'A QIF G
0Rdll VTS VAR 6AHIKIRG I° I26Q FIF1A |igt QIRS| 62 92 LI G| 627166 AR 9 0Qd
adie 9020q RS AMIZS Q6|

a8 92l A6QI8Ng 631G TO 6AYSI ILEQ QTAIR AEWE Q'€ YMI?
Options:

1) QEQI GIFQ QY 62919 FIgaRl

2) QPRI OIF AL KGR VLR

)
) — — w
3) QoA BIF VA AGIQIG SIFAR
4) 62 6297 9IF RATS A FIFARI

Correct Answer: 1) @00l GIFQ G 62419 SISAR

Candidate Answer: 1) QoQI SIFQ 9 62919 LR
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QID : 652 - G¢J6Q Il RQULIRIR! IQUPITY JRg Ie° &7 949eaa eaq f2gI

AR FAAIG AIFER a1 AQR P84 69 62| F6Q QAR G A8 62TF 6¥IN @ 62IR AR AR
250 999 YN AARAIFER A WER XS 6228 64 RACA

22 e Q69T 6TRRR QNIRRT LARIQ QHIIAYRI- 62 FIAR IFEER; J2U FIFAER; SRR A
6QR26M| QAT 10 ATEQ QAN NQ° ALRMI| 6967 696R 6 6EAYAMII F6Q AGIAUGI 621 62 6N
6Q6R F68 QUG AERI GIE RIEQ 21 6l 621l GO LR 66|

6202 QIP6Q oAl FOT 6aYMI e QISR AICH IR AR §F 6JI606R6R 62 AUGER FLEIG
69IR9IQ G, 64 9% AR IR ANl 64, A'A IYFIA YR IR AVIARER @ ALY 12 T6Q @Fal
MRYYA NN IG° 6TAQ 697 F6NS QA 62RIQ AN 6YRAAIRAN 62 6aFRI AARAILER 2 AT
ARIQEQ 2T, FIMI AT 6Q716R IR RSB

6J606Q6R 62 G 6R10Q1 GGAY JIT RN, 6AYRI 662 QAR TO QI 62IRG- 63ITRER GI'A QIF G
0R4ll 20666 2TR6Q 6RIIQIRE 1e° 126a QIF1S ]It AFE 62 98 I2Ig AR 62AI6R AREN 9 0Qd
adis JeL0q 6l 2AMUILS A6

2AAQIZER G2 A6 (B2)Q FATE QIY @'S gMI?
Options:

1) 62 QIRR QUFLER

2) g919l il ORI HAUER 6ARYER]

3) 64 5@ QAL AGQI IG° AR FSIR2EM
4) QUCAIB AIQ ANY

Correct Answer: 3) 62 & Q019 GQI IG° 6RYRIER RFIRE6R

Candidate Answer: 3) 6Q 56 Q09 9GR1 IQ° 6RYSIER ASIRSER

QID : 653 - G¢J6Q JQIf @ILIRIQ! IQUPHTY JRg 9e° AF J49Eaa @aa §2g!

¢RRIQ SIS CIFER QI AR G464 694 62RAMI | Y67 QAR ALl 9T 627G 68IRI @ 62IR AGYNI| AR
T20Q 25Q gl 2AAQALER 2T A6Q 6l 6208 61 AEA!

22 e Q6QI9E 6TRAF QITIARIT LARIQ CQYIIAYRI- 62 SRR QIFEER; J2 FIFAER; SRR A
6QR26R| AT 216 ATEQ AN NQ° AGEINI 6367 636R 62 6AYAMII F6R AYRUITT 621 62 6N
6Q6%R 968 QA (TR Qe ARQ 2l RS 621N TO FEFR 6REMI

6209 QIGEQ QORI SOG 6RYMI 1&° AIGE AT YIREQ AR AN §F 6I6LERER 6 QTR Fa8IQ
69IR9IQ G, 64 9F AR I ARl 64, G'A AYFIR JAIR IR AVIARER @ ALY | 92 A6Q QEA
MRYYA NN IG° 6TAQ 697 6N QA 62QIQ AN 6YRAAIRAN 62 6a¢RI AARAITER 22 AT
ARIQEQ AT, FIMI AT 6Q716R IR VRSB

6J606Q6R 62 G 6R10Q1 GGAY JIT LM, 6AYRI 664 QAR TO QI 62IRG- 63ITRER GI'Q QIF 6
0R4ll 20666 2AVR6Q 6RIQIAG 9e° 126a LGS ]It QG| 62 98 I2IQ IR 62AI6R AQREN 9 0Qd
adis IR0 6Nl 2AMILS A6

F69ID CRIQ 626G “QRII” 94 9ER?

Options:

—

2

)

) 26U
3)

) @

2w
2
@A
4) Q¥

Correct Answer: 2) 2Q6ai
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Candidate Answer: 2) 2Q6Qli

QID : 654 - G¢J6Q QIR RN IQUIPITY JRg Ie° §F) 49eaa @aq f2gI

SARIQ YA TIFER Y9I AAQ Q64 694 62RARNI| F67 QAR UG 8 620G 63N & 62IR AGYNI| AR
2GR 25Q g AAQAILER 2 A6Q 'S 620 61 A6

Q2 e Q6QI91E 63907 AITIARIA LARIQ CQHIIAYMI- 62 FIAR IFEER; J2 FIFAER; SR A
6QRg6R| AT 216 ATEQ IAMI NQ° AGENI 6267 636R 62 6AYAMII F6Q AYUGTT 621 62 6N
6Q6%R 68 QUA (TR Qe ARQ 2l RS 621N TO FEFR 6REMI

6207 QIGEQ TRl SOGN 6RYMI 18° AICE AT FIREQ ARIANI| §F 6I6LERER 6 AT Sa8IQ
69IR9Ig G, 64 9% AR I ANl 64, I'A AYFIA YR IR AVIIRER @ ALY 12 6] @Fal
MRYYR SRR IS 6TRRI 6077 FERS QA 6291 AT 6TRAIRA 62 6QYRI AARAIGER 2RI AT
ARIQEQ 2T, FIMI AT 6Q716R IR RSB

6J606Q6R 62 G 6R10Q1 GGAY JIT ILAMI, 6AYRI 66 QAR TO QI 62IRE- 63ITRER GI'A QIF 6
0R4ll 20666 2AVR6Q 6RIQIAE 1e° 126a IG1S ]It AFE| 62 98 I2Ig AR 62AIER AQREN 9 0Qd
adis JeL0q 6N 2AMILS A6

F64I9 FRIQ 622§ TR ITLS 621RAYS! ‘Fal 624! Tl AGOIQ FARIG?

Options:

-—

N
D

2oep=
L QI D
’g_'))'d@-))@

Correct Answer: 4) i@

Candidate Answer: 4) gI@

QID : 655 - G¢J6Q JAIF @QIKIRZS! IQUPSTY Jeg 9e° GF J49ea e §2g!

¢RRIQ FANIS CIFER YA AR Q84 694 62RARNI| Y67 TR UG @8 62AE 63IRI @ 62IR AGYNI | AR
T2TQ 25Q gl 2AAQALER 2 A6Q 'S 6208 61 A6

Q2 e Q6QI9IE 6TRRR QITIRRIT LARIQ CQYIIAYRI- 62 FIAR IFEER; J2 FIFAER; SRAQ A
6QR26R| AT 216 ATEQ AN NQ° AGEINI 6967 636R 6 AN F6Q AYUGI 621 62 6RTYRIA
6Q6%R G681 QA (TR QIE ARQ 2l RS 621N TO FEFR 6REMI

6909 QIGEQ TRl SOGN 6RYMI 18° AICE AT YIREQ AR IR §F 6I6LERER 64 AT Fa8IQ
69IRQIG G, 64 9F AR I ANl 64, G'A AFIR JAIR IR AVIARER @ ALY | 92 A6 QEA
MRYYR SRR IG° 6TAR 6277 FERS AR 6291 AT 6TRAIRYA 62 6QYRI AARAIFER 2RI AQT
ARIQEQ 2T, SNl AT 6Q7I6R IR LIRSB |

6J606Q6R 62 G 6110Q1 GGAQ JIT IRAMI, 6AYRI 664 QAR TO QI 62IRE- 63ITR6R GI'a QIF 6
0R4ll 20606 VAR 6RINIRG 1e° 126a IG1S |ig AFE] 62 98 I2Ig AR 62AIER AQREN 9 0Qd
adis IR0 6N AMUILS A6

@ GQYIrE AREgRIER F6CIB IR 696 ABE OR?
Options:

1
2
3
4

Q08 Y9 U618 FEI @66 FIBQ Y6
QA e° Qi YERIGIE F1-IEQ FIIG 60T A8 FFAI 621ReMI
9ae1 96 AFRY Zem NQ° AQRR gldal /g6

QoA GIe QARIL AGRI IS° RYRIER KSIR2ER

—_— — ~— ~—
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Correct Answer: 3) 9Q61 4R AFGY 26m NQ° AQRR gldal Ag26n

Candidate Answer: 3) 901 @Q AR J6m YG° AR TR RQ26R

QID : 656 - 91FQIGIQ 2R 6TRYRI LI F19Q AP PR 9&° AT 691X N AR | 6XHIFR 626 A
QA FRT G4 2N 6FRIG LAREAER

21661 N2IQ ARAIFEA QI AR, ¢ AR 69YR Y9° FaR TOI A9 TRIR 6aq FITIFIER QIR daeeR @i
QI9IQ AID 2R 68FFIATA QI F6AIT ATQ 69%0 F68 AT SRR

@3 66666 F60Q 62 671G AQAIYI AIQ 62119 629, 2I6F F64 @ AIAR FIIQ YOQ AR 2F
696110 AQOIQ 65F M1 T QUER U@ UNIQ TR 2R} QIR

6965667 @F I9° GIF QYAI6R B126a QITRER 6AFIEE FAR AGRS [6M ?
Options:

1) 2233
2) cl9ge
3) 6RIzge
4) 6g116Q 9G4

Correct Answer: 3) 69I1Q9s

Candidate Answer: 3) 63I1Q9®

QID : 657 - 919QIGIQ 2IRR 62RYRI 12! 199 AP PR 9&° AQ 691X N AR | 6HIFR 626 A
QA QWG QLY 2T 6QIIG LAURCIERI

2661 N2Ig ARAILEA QY AR, ¢ AR 69YR N8° FaR TOI A9 IR 6aq SITIFIEE IRl dRER FdieR
Q91 AId 2R 68FFIAETA QI F6AIT ALQ 6990 F68 AT QAR

@3 66666 F6@ 62MI 6RAG 1QAIYI IR 6231 622, ZIET F64l ag AR JILIQ YL QORI A
696110 AQOIQ 65F AT T QUER U@ UVIQ TN 2IQ FLTIRMI

Q50160 K9 Il S

Correct Answer: 2) il

Candidate Answer: 2) digl
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QID : 658 - 91EQIGIQ 2IRR 6TRYRI 12! F19q AP FAR Y&° AQ 691X NG AR | 6HIFR 626 A
QA oG 9P 2N 6RRIY LARAEREMI

2661 NLIQ ARAIFEA QI AR, ¢ AUGE 69YR YG° 29 TOI A9 IR 6aq AITIFIER QIR FaeleR Fdien
Q21 AT 2R 68RANAFA QY F6RIE AR 6920 7681 A8 JlIRER

@ 66066 F60Q 62MI 671G AQAIAI AIQ 62119 629, 216 K64 @ LAIAR JIIQ YOQ AR 2IF
69610 AR0IQ 659 &1 IFl QUEQ IR ANIQ GN 2R QIR

QAR C1UEQ EREREREN F1LISA Ql@ 6amI?
Options:

1) FIgRciea
2) ALAUEREQ
3) QIFIEREQ
4) 9906Q

Correct Answer: 1) ¢Qafi6a

Candidate Answer: 1) €1Qa¢i6Q

QID : 659 - 91EQIGIQ 2R 6TRYRI 12! F19q AP FAR I&° AQ 691X NRI AR | 6HIFR 626 A
QA oG 9P 2N 6QRIY LAUREREM|

2661 NLIQ ARAIFEA QI AR, ¢ AR 69YR YS° QR FOI A9 TRIR 6aq AITIFIER QIR FaeeR @R
QeI AT IR 68FANAFA QY F6RIE A2Q 6920 766l A8 JRYER

@ 66066 F6Q 62 671G AQAIAI AIQ 62Q1g 629, 26T F64 @ QAR IR IOQ AR 2IF
696110 AR0IQ 659 &I IF QUER U@ ANIQ AGN 2R} QIR

6918 9O 6918 AUIG @' OB FQR?
Options:

1) 691IQ BN IF QUER AR

2) gdQ [IR IF QU AGN

3) 2Y62ATQ SR I AACA AGR
4) QAI2Q IR I RUER AR

Correct Answer: 3) 2962/19Q QIR 2IF QAQA AGR

Candidate Answer: 4) 2219Q 8IQ 2Ifl QU6Q AGR

QID : 660 - 91FQIGIQ 2R 6TRYRI 12! F19q AP PR Y&° AQ 691X NG AR | 6HIFR 626 A
QA oG 9P 2N 6RRIY LAUREREM|

2661 N2IQ ARAIFEA QY AR, ¢ AR 69YR YS° FaR TOI A9 TRIR 6aq AITIFIER QIR FReR Gl
QI9IQ AID 2R 68FFIATA QI F6AIT ATQ 69%0 K68 AT SRR

@9 6060606 F6QQ 62nI 617G QAIYI AIQ 6241q 629, 267 R68l @F 2AUAR LR oA ASR! 2ie
696110 AQOIQ 659 21 UIF QUER U@ UVIQ IGR 2R QIR

%ﬁq LRCQR LR V197
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Options:

1) 92| 6QRIFQ 9IZ AL ARG

2) 99l 6T RYY AL 6RHIRE

)
)
3) 92l 6T 651 A2 61RHIQE
4) 92 6Q719eQ §J A2 RGNS

Correct Answer: 3) @l 6Q2¢I9%Q 691 AL 6C1RHIRAT

Candidate Answer: 4) Y2l 627I9aQ ¢d AL 6FRHIQE

QID : 661 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

The skit is prepared by / one of my students and / it is really funny and enjoyable.
Options:
1) The skit is prepared by
2) one of my students and
)
)

3) it is really funny and enjoyable.
4) No Error

Correct Answer: 4) No Error

Candidate Answer: 1) The skit is prepared by

QID : 662 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given.

Divit (used for love playing) football in the corridor.

Options:

1) used to love to playing

2) used to love playing

)

)
3) used to loves playing
4) No correction required

Correct Answer: 2) used to love playing

Candidate Answer: 2) used to love playing

QID : 663 - A sentence has been given in Active/Passive voice. Out of the four alternatives
suggested, select the one which best expresses the same sentence in Passive/Active voice.

The metal beams were corroded by the saltwater.
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Options:
1

2) The saltwater corroding the metal beams.

) The saltwater corroded the metal beams.
)

3) The saltwater was corrodes the metal beams.
)

4) The saltwater corrodes the metal beams.
Correct Answer: 1) The saltwater corroded the metal beams.

Candidate Answer: 2) The saltwater corroding the metal beams.

QID : 664 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Mom was at my sister yesterday to her homework.
Options:

1) screaming,finish

2) screamed ,finish

)
)
3) screamed |finishing
4) screamed ,finished

Correct Answer: 1) screaming,finish

Candidate Answer: 2) screamed ,finish

QID : 665 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

Gunjun the A.C.s off in the auditorium this morning.
Options:

1) switching

2) switch

)
)
3) switched
4) switches

Correct Answer: 3) switched

Candidate Answer: 3) switched

QID : 666 - Select the word that is closest in meaning (SYNONYM) to the word given below.

APPREHENSIVE
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Options:

1)

2) arduous
3) upbeat
4) angst

doubtful

Correct Answer: 1) doubtful

Candidate Answer: 2) arduous

QID : 667 - Select the word that is opposite in meaning (ANTONYM) to the word given below.

DISCREET

Options:

1
2
3
4

Imprudent
Delirious
Inclination
Anarchy

—_— — ~— ~—

Correct Answer: 1) Imprudent

Candidate Answer: 4) Anarchy

QID : 668 - Select the word that is spelled correctly.

Options:

1
2
3
4

Notoreous
Notorus
Notereus
Notorious

—_— — ~— ~—

Correct Answer: 4) Notorious

Candidate Answer: 2) Notorus

QID : 669 - Select the most appropriate 'one word ' for the expressions given below.

Renouncing a belief or doctrine
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Options:

1) Ascetic

2) Abnegation
3) Atheist

4) Agnostic

Correct Answer: 2) Abnegation

Candidate Answer: 1) Ascetic

QID : 670 - Select the option that best expresses the meaning of the idiom or phrase given below.

Taste of your own medicine
Options:

1
2
3
4

to have some secret information about someone

something happens to you, that you have done to someone else
to do something badly or cheaply

to be active without achieving any worthwhile result

—_— — ~— ~—

Correct Answer: 2) something happens to you, that you have done to someone else

Candidate Answer: 1) to have some secret information about someone

QID : 671 - Who was known as ‘the father of early childhood education’?

Options:

1
2
3
4

B.F. Skinner
Jean-Jacques Rousseau
Charles Lamb

Howard Gardener

—_— — ~— ~—

Correct Answer: 2) Jean-Jacques Rousseau

Candidate Answer: 2) Jean-Jacques Rousseau

QID : 672 - The Progressive Education Association was founded in which year?
Options:

1) 1956
2) 1980
3) 1919
4) 1936
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Correct Answer: 3) 1919

Candidate Answer: 2) 1980

QID : 673 - The discrimination based on gender in workplaces is known as

Options:

1) Gender roles

)
2) Gender stereotyping
3) Gender socialization
4) Occupational sexism

Correct Answer: 4) Occupational sexism

Candidate Answer: 2) Gender stereotyping

QID : 674 - How many factors influence the process of socialization?

Correct Answer: 2) 4

Candidate Answer: 2) 4

QID : 675 - Which one these is not an agent of socialization?
Options:

1) The school

)
2) The family
3) Mass media
4) Books

Correct Answer: 4) Books

Candidate Answer: 4) Books

QID : 676 - Who proposed the 8 stages of Socialization?
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Options:

1)
2) Carl Rogers

3) Edward Thorndike
4) Kurt Lewin

Erik Erikson

Correct Answer: 1) Erik Erikson

Candidate Answer: 2) Carl Rogers

QID : 677 - The stage in which a person faces many changes in personal, biological and social
self is known as

Options:

1) Pre-school stage

2) Adolescence stage

3) Young adulthood stage
4) Later childhood stage

Correct Answer: 2) Adolescence stage

Candidate Answer: 2) Adolescence stage

QID : 678 - Maturity stage starts from which age in a person?
Options:

1) 35-65 years of age

2) 6-12 years of age

3) 65+ years of age

4) 18-35 years of age

Correct Answer: 3) 65+ years of age

Candidate Answer: 4) 18-35 years of age

QID : 679 - How many principles of Child Development are there?

Correct Answer: 4) 6
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Candidate Answer: 4) 6

QID : 680 - The Expectancy theory was developed by

Options:

1) Victor Vroom

2) Abraham Maslow
3) Wilhelm Wundt
4) Richard Lazarus

Correct Answer: 1) Victor Vroom

Candidate Answer: 1) Victor Vroom

QID : 681 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to'Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet 11l maintained famous tulip gardens in the summer highland
pastures at Spil Dag! above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Where is the world's largest permanent display of tulips?
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Options:

1) Keukenhof

2) Turkey

3) Antalya
)

4) British Columbia
Correct Answer: 1) Keukenhof

Candidate Answer: 2) Turkey

QID : 682 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet Ill maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Which of these people brought the tulips to Europe?
Options:
1) Suleyman the Magnificent
2) Oghier Ghislain de Busbecq
)
)

3) Emperor Ferdinand |
4) Sultan Ahmet Il

Correct Answer: 2) Oghier Ghislain de Busbecq

Candidate Answer: 1) Suleyman the Magnificent
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QID : 683 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet Il maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

The name 'tulip’ is derived from which of these words?

Options:

Correct Answer: 1) turban

Candidate Answer: 3) flower
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QID : 684 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet 11l maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Which of these was not a happening that took place during the "Tulip Mania"?
Options:
1) Tulips were treated as a form of currency
2) Dutch government to introduce trading restrictions on the bulbs
)
)

3) ceramic tulipiere was devised for the display of cut flowers stem by stem
4) People planted gardens with hundreds of Tulips

Correct Answer: 4) People planted gardens with hundreds of Tulips

Candidate Answer: 1) Tulips were treated as a form of currency
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QID : 685 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Everybody thinks that tulips come from Holland. Actually, Tulips are native to Central Asia and
Turkey. In the 16th Century they were brought to Holland from Turkey, and quickly became widely
popular. Today Tulips are cultivated in Holland in great numbers and in huge fields.The botanical
name for tulips, Tulipa, is derived from the Turkish word "tulbend" or "turban", which the flower
resembles. It's considered as the King of Bulbs.Cultivation of the tulip began in Persia, probably in
the 10th century.Sultan Ahmet 11l maintained famous tulip gardens in the summer highland
pastures at Spil Dagi above the town of Manisa.Although it is unknown who first brought the tulip
to Northwestern Europe, the most widely accepted story is that it was Oghier Ghislain de
Busbecq, an ambassador for Emperor Ferdinand | to Suleyman the Magnificent. Tulips spread
rapidly across Europe and more opulent varieties such as double tulips were already known in
Europe by the early 17th century. Nouveaux riches seeking wealthy displays embraced the exotic
plant market, especially in the Low Countries where gardens had become fashionable. A craze for
bulbs soon grew in France, where in the early 17th century, entire properties were exchanged as
payment for a single tulip bulb. The value of the flower gave it a special ‘aura’ of mystique, and
numerous publications describing varieties in lavish garden manuals were published, cashing in
on the value of the flower. An export business was built up in France, supplying Dutch, Flemish,
German and English buyers. The trade drifted slowly from the French to the Dutch and is thought
to have sparked the infamous tulip mania in Holland. Between 1634 and 1637, the enthusiasm for
the new flowers in Holland triggered a speculative frenzy now known as the "Tulip Mania" that
eventually led to the collapse of the market three years later. Tulip bulbs had become so
expensive that they were treated as a form of currency, or rather, as futures, forcing the Dutch
government to introduce trading restrictions on the bulbs. Around this time, the ceramic tulipiere
was devised for the display of cut flowers stem by stem. Vases and bouquets, usually including
tulips, often appeared in Dutch still-life painting. To this day, tulips are associated with the
Netherlands, and the cultivated forms of the tulip are often called "Dutch tulips." The Netherlands
has the world's largest permanent display of tulips at the Keukenhof.

Who among these maintained tulip gardens in the summer highland pastures at Spil Dagi?
Options:
1) Suleyman the Magnificent
2) Oghier Ghislain de Busbecq
)
)

3) Sultan Ahmet 11|
4) Emperor Ferdinand |

Correct Answer: 3) Sultan Ahmet lll

Candidate Answer: 1) Suleyman the Magnificent
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QID : 686 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where

The harvest shall stop?

What is the poet filling up the leaves into?

Correct Answer: 4) A shed

Candidate Answer: 1) A sack
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QID : 687 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where

The harvest shall stop?

The leaves make a rustling noise like which animal?

Correct Answer: 1) Rabbits

Candidate Answer: 1) Rabbits
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QID : 688 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where
The harvest shall stop?
What does the poet compare bags full of leaves to?
Options:
1) A stone
2) A balloon
)
)

3) A feather
4) A scarf

Correct Answer: 2) A balloon

Candidate Answer: 2) A balloon
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QID : 689 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,

But a crop is a crop,

And who's to say where

The harvest shall stop?

Why did the leaves become duller?

Options:

1) because of contact with the river

2) because of contact with the tree
)
)

3) because of contact with the earth
4) because of contact with the rocks

Correct Answer: 3) because of contact with the earth

Candidate Answer: 3) because of contact with the earth
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QID : 690 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

Gathering Leaves
BY ROBERT FROST

Spades take up leaves
No better than spoons,
And bags full of leaves
Are light as balloons.

| make a great noise
Of rustling all day
Like rabbit and deer
Running away.

But the mountains | raise
Elude my embrace,
Flowing over my arms
And into my face.

I may load and unload
Again and again

Till I fill the whole shed,
And what have | then?
Next to nothing for weight,
And since they grew duller
From contact with earth,
Next to nothing for color.

Next to nothing for use,
But a crop is a crop,
And who's to say where

The harvest shall stop?

Who eludes the embrace of the poet?

Correct Answer: 4) Mountains

Candidate Answer: 4) Mountains

QID : 691 - is considered as the major problem in teaching mathematics.

Q6Ie G 6QAIQ 6VFER @ QIR AAY FAIRER TR @ I
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Options:

1) Classroom operations

65803 QITGe

2) Knowledge of teaching methods
Q898G |IF

3) Use of mathematical tools
QISER AQGIA QUQLIQ

4) No option is correct
6al9d Sag O@ g6e

Correct Answer: 4) No option is correct
6a19d Qa8 O g6w

Candidate Answer: 2) Knowledge of teaching methods
96 986 |IQ

QID : 692 - Which method of mathematics is used to solve geometrical logical problems?
gIfioe 6d12a QA ARG FHSR 6296 J8G 9RLE 992
Options:

1) Summative
A6AANTR

2) Deductive
2laole)

3) Analysis
AN

4) Inductive
AN

Correct Answer: 2) Deductive
Geaa

Candidate Answer: 2) Deductive
a0l

QID : 693 - In Mathematics, ‘Representation’ does not refer to

Qdioea , "gaag" Q QN QIF |
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Options:

1) expressing the given data through graphs

QI €116 Y@@ 669l dald @l

2) expressing the number sequence through geometrical patterns
GI6R FRIaqEa AIIFE] A°¢ 99T a8 @Al

3) expressing an important geometrical result as a theorem
QAAIQ FARER I0E JRRYd gIFeR TRTR RIS QA

4) expressing the relation between two variable as an equation
R AR 2AREQ G5 VIGNAR FIEAAAD RIS Al

Correct Answer: 3) expressing an important geometrical result as a theorem
QU1 GQIRER 10T gReId gIFee TRITR gaId Q4

Candidate Answer: 4) expressing the relation between two variable as an equation
9@ AR08 2AIR6R 98 AAIRR AIERAR IRIS QA

QID : 694 - Community Mathematics is interconnected with which of the following?
RAS e AIRYEYER Q F1IER 1@ AT AYB?
Options:

1) Integration
QAR

2) Trigonometry
695G

3) Arithmetic

A&

4) No option is correct
6al9d Sag 0@ g6e

Correct Answer: 3) Arithmetic
A8

Candidate Answer: 4) No option is correct
6@16d Sag O g6w

QID : 695 - is essential to do away with the problems of teaching mathematics.

Qéio S6SIRQIQ ANYIYRR 9Q QS SRl
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Options:

1) Practicing all subjects with the same teaching method
QAR QIORIF IVGEQ AT FIA 2GRS QA

2) Appropriate nature of the teacher

J99Q QUYS J96

3) To include group discussion in teaching

0P 6]6Q QU 2RISR 8@@@ @Ql

4) No option is correct

6al9d Sag 0@ g6e

Correct Answer: 2) Appropriate nature of the teacher
S99Q QAYD 996G

Candidate Answer: 1) Practicing all subjects with the same teaching method

QAR QIORIF IRGEQ AT FIA 2GRS QA

QID : 696 - Building a mathematical wall in the classroom helps students

65886 Idee gIola SRl dgiga ALILR| 6
Options:

1) to share their views and problem with others and show their creative ability
AFA 68 GIQ ARIAG NG° AAYl QUG KE6Q 1Q° FIQ YRFIR ARVS| 6QTIER

2) to understand difficult concepts in mathematics

JEOQ @R VIR QI

3) to know their position in the class

ALEQ CIQ AYNR FNAEQ

4) to learn all the formulae of geometry

G aag 9@ dgqiea

Correct Answer: 2) to understand difficult concepts in mathematics
80 @R IR QEER

Candidate Answer: 4) to learn all the formulae of geometry
g% aag gg dgqiea

QID : 697 - Which of the following is not a problem related to teaching mathematics?

7910 6996 986 U6ERRIQ ATC ARG Q6L?
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Options:

1) Physical and mental health of students

JR1dia SI1ae 6 AIede QIg

2) Inadequate subject-related knowledge of the teacher
Jaee adig Q99 A0 RIS

3) Handling the active students in the class

UQ6a AGS JIea AR FGQ!

4) No option is correct

6163 Qag A0@ g6L

Correct Answer: 4) No option is correct
6al9d Sag A0 gew

Candidate Answer: 3) Handling the active students in the class
[Ud6a AGS Jiea AGIRA FGQ!

QID : 698 - Ram was asked to express 7 metres in terms of centimetres. His answer was 70
centimetres. What type of error is it?

Qeg 7 Asag 6A8T6R 60 gald @GaIg QKN | GI8 @8A AR 70 6AFATIAI G 699 URIR §&7?
Options:

1) Wrong algorithm
Qe YIRcaea

2) Basic fact error
6ede gIq g6

3) Incorrect operation
@F 2AIERAR

4) Regrouping error
geqia ga° g6

Correct Answer: 2) Basic fact error
6ede Iq g6

Candidate Answer: 2) Basic fact error
6ede qIQ g8

QID : 699 - The mathematics curriculum must develop a sense of

JEeq IQRAS aaga Q 691 G2UIR FAQI 29
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Options:

1) motivation

69Qdll

2) self confidence
2SI

3) understanding
6QIUIGD

4) All options are correct
A0 Sag A0Q

Correct Answer: 4) All options are correct
A0g Qa7 A0Q

Candidate Answer: 4) All options are correct
A08 Gag A0

QID : 700 - Which of the following is/are the forms of Gallery walk in mathematics?
I. Teacher observation
II. Small group problem solving

799 266 980 GIRIT BLIRQ TA/GF ?
. S8 adeemd
Il 6815 g AAY! AR

Options:

1) Only |

6Rew |

2) Only Il

6@am Il

3)Both I and I

[ 9Q° Il Q@0

4) No option is correct
67194 Sag A0 g6<

Correct Answer: 3) Bothlandll
I 9Q° || QU

Candidate Answer: 3) Bothland Il
| 9Q° Il Q@

QID : 701 - What is the unit digit of (19)%6° x (23)* x (65)27?

(19)365 x (23)*8 x (65)?7Q Y@@ A°YIT 60637
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Options:

A ON -
- = — —
W O © -

Correct Answer: 3) 5

Candidate Answer: 4) 3

QID : 702 - What is the value of 1 +2+3+4 + 5 ...... 147
1+2+3+4+5 ... 14 Q Q1@ 6@667

Options:

1) 115

2) 107

3) 105

4) 117

Correct Answer: 3) 105

Candidate Answer: 3) 105

QID : 703 -

lfx =+{3 — /4 and Y= 3+ 38, then what is the

value of (x —y)?

AGx =+f3-/4 99 y=\3+ 3-8 99 6089 (x-y)a

e ERERY

Options:
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Correct Answer: 3) 0

Candidate Answer: 2) V3

QID : 704 - Side of a cube is 3 cm. What is the lateral surface area (in cm?) of the cube?

A6 U968 AIHE 3 69711 AREIER AIFIS JIQ 6R8TR (6Q7°) 626072

Options:

Correct Answer: 2) 36

Candidate Answer: 4) 54

QID : 705 - Half of the perimeter of a rectangle is 24 cm. If the breadth of the rectangle is one
third of its length, then what is the area (in cm?) of the rectangle?

QG ANGEILAR 699 26D 24 6271 IQ 2IAC6NTR I 6T6GHR IR GVILIE 91, 656Q ALPFEIIR
2o (6Q51%) 62607

Options:

Correct Answer: 1) 108

Candidate Answer: 1) 108

QID : 706 - Radius of a hemisphere is 4.2 cm. What is the volume (in cm?) of this hemisphere?

9RG 60IRIeR QI 4.2 6281 YR 6QIRIIA AIRGR (6QF%) 62607
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Options:

1) 103.488

2) 155.232

3) 68.992

4) 175.232
Correct Answer: 2) 155.232

Candidate Answer: 1) 103.488

QID : 707 - If a + b = 5 and ab = 6, then what is the value of a® + b3?
Q9@ a+b =539 ab =6 296069 a° + b3 Q QIS 6@63?

Options:

4) 215
Correct Answer: 3) 35

Candidate Answer: 1) 89

QID : 708 -

Fx° + lﬁ = 34, then what is the value of x* + ls_?
X X

7 1 1
@ x° + — = 34 29, 606% X* + = Q 7V 6@6Q?
X X
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Options:

1) V34

Correct Answer: 4) 6

Candidate Answer: 3) V27

QID : 709 - If x* — 8x3 + 7x? + 18x + 72 is divided by (x — 4), then what will be the quotient?
Q@ x* - 8x3 + 7x2 + 18x + 72 @ (x — 4) QAU QAUF ¥R 99 606 QITRT @& 2Q7?

Options:

1) x3 + 4x% - 9x — 18

2)x3—4x?-9x + 18

3)x®—4x%+9x - 18

4) x3 - 4x%> —9x - 18

Correct Answer: 4) x3—4x?—9x—18

Candidate Answer: 3) x> —4x%+ 9x— 18

QID:710-Ifax b =a+b + ab, then what is the value of 7 x 3?
Q@a><b=a+b+abg\’l€®6‘a’7XBQQIG’G@G@?

Options:

1) 21
2) 31
3)18
4) 27

Correct Answer: 2) 31

Candidate Answer: 4) 27

202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbe04e5&q=0DdmYjJmNzIONGM5YzA2ZjcwM,)...  50/71


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

10/8/2019 Odisha Teacher Eligibility Test

QID:711 -

4a 1 :
|f o T then what is the value of

a—i?

a

_ 4a 1 1
e = — @ BREY a— —0 ¢le emea’?
22:8a.16 4 % a :

Options:

Correct Answer: 1)

33
4

Candidate Answer: 3) 12

QID : 712 - In a group of 25 persons, when a person having weight 60 kg is replaced by a new
person, then the average weight of the group is increased by 1 kg. What is the weight (in kg) of
new person?

25 260 9@ GR6Q, 6969 60 6aF 8 6x181d 92l EQ QIAl JGITS 949, 6069 AR AR BIL 1 6aF
Qf @Al 291 92 QA BAR (69% 6Q) 6Q6G?

Options:
1) 95
2)61
3) 86
4) 85

Correct Answer: 4) 85

Candidate Answer: 3) 86
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QID : 713 - A can do a work in 5 days and B can do the same work in 10 days. How many days
will both take to complete the same work together?

A 5 G3Q A1I6Q QT QIF @QQI AI6Q ¥e° B 10 GQQ FIEQNAR |IF @GQl AI6Ql 9G Qa8d e Alse e
Q7 68T QAR 660 TQ AN 67697

Options:

1)3

2)8/3

3) 10/3

4)2

Correct Answer: 3) 10/3

Candidate Answer: 1) 3

QID : 714 - What is 20% of 20% of 2007?

200 @ 20% @ 20% 6€@63 ?

Correct Answer: 1) 8

Candidate Answer: 1) 8

QID : 715 - 18% of which number is equal to 12% of 75?

600 A°YIQ 18%, 75 @ 12% AFG AAIR?

Options:

Correct Answer: 1) 50

202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbe04e5&q=0DdmYjJmNzIONGM5YzA2ZjcwM,;. ..

52/71


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

10/8/2019 Odisha Teacher Eligibility Test

Candidate Answer: 4) 320

QID : 716 - If the sides of a right angled triangle are x, (x + 1) and (x — 1), then what is the length
(in cm) of its hypotenuse?

QG 9@ ATERIE FRFQ G GRR X, (X + 1) N (x — 1) €Y, 6361 AQANFR 6Gg (62F) 696672

Options:

N =
O N =20

H W
= = — —

Correct Answer: 1) 5

Candidate Answer: 4) 6

Qb : 717 -
In the given figure, ABCD is a rhombus. AB = 6

cm and ZABC = 120°.What is the length (in cm)
of diagonal ED?

gdea §966a, ABCD 6aml 99 Gigel AB = 6 64 99°
ZABC = 120°| &d@ BD @ €3¢ (698) 6m6a.2

D C
A B
Options:
1)4
2)6
3)8
4)12
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Correct Answer: 2) 6

Candidate Answer: 3) 8

QiD : 718 -

In the given figure, ABCD is a cyclic quadrilateral
with centre O. If LCOD = 120° and ~BAC = 30°,
then what is the value (in degrees) of ~BAD?

Joa 96662, ABCD caml U@ 099w Qg 6@6qQ
@glale O LCOD = 120° 9e° £BAC = 30°, ZBAD
2 ¢ie (Bg169) emen?

Options:

Correct Answer: 2) 90

Candidate Answer: 1) 60
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QD : 719 -
In the given figure, O is the centre of the circle. If
ZAOB = 110°, then what is the value of ZAPB?

gea g6 O 9ae cw@gl 9@ <AOB = 110° ¢4,
6069 ZAPB Q ¢liq 6697

Options:

Correct Answer: 4) 70

Candidate Answer: 4) 70
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QiD : 720 -
In the given figure, C1 and C: are the centres of

the circles. If #.BDC = 120°, then what is the
value (in degrees) of ~ABP?

Jea G6gea  Crie° Cr ceml QEgEe cagl 9@
ZBDC =120°, 6069 ZABP @ ¢lIq (G9162) 6602

A

\Z

Options:

Correct Answer: 2) 60

Candidate Answer: 2) 60

QID : 721 - How technique of ‘Classroom questioning’ in teaching science can be used more
effectively?

ARIAQ AIORIFA 63Q6R '6980T JFIT’ ARRIA 6a14R AU 2IgA FITAARIER FITIQ FQ AIRAIEQ?
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Options:

1) Ensuring active participation of students
JRIel1a AGA 2°EgRd ARG K9G

2) Developing rote learning

99 @Q JYQIQ GRIE 6218

3) Developing discipline in the class

RAQ YErR TR @

4) No option is correct

6xled Qg A0e gee

Correct Answer: 1) Ensuring active participation of students
JR1el1a AGA 2°EgRs ARG Kag

Candidate Answer: 1) Ensuring active participation of students
dRIel1a AGA 2°EgRd ARG K

QID : 722 - How practical work in science helps students in the learning process of science?

ARIFQ RRLNAR AT FAVER I16GQ FRIEARQ FYAQ YFAER ARIAIG REQ?
Options:

1) Improve the marks obtained by the students

9191 99 9e9E R0 909

2) Help the students to develop the habit of maintaining written records
JRNIQ A 609% AT AHIQ 2YIA §F $RG ALAS! @G

3) Keep proper check on punctuality and regularity of the students
2I364Q FAFIgIT0l 1e° S0l Afa JelIdel 699 Aag

4) Help the students to verify the theoretical concepts

Q@R UIRGIG AITIR K96Q FNIEIR ATIAG ARG

Correct Answer: 4) Help the students to verify the theoretical concepts
Q@R QGG AIPIR FR6S JNICR ATIAG! ARG

Candidate Answer: 4) Help the students to verify the theoretical concepts
QIRR UIRIG PR FR60 JVIEIR ATIAG! ARG

QID : 723 - Project method in teaching of science is suited mostly to

FRIFQ VONRQ YRFQ ARGE 69d0@Ial QIR RAYS|
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Options:

1) promote understanding of basic concepts in science
AR gladie JIQdIgee 98a1g JoIa @ag

2) enhance numerical abilities of the students
VIR LY QBB &

3) strengthen reasoning skill of the students
AT 9B @80 QR

4) No option is correct

6xl6d 9eg A0e gea

Correct Answer: 1) promote understanding of basic concepts in science
AR gladie JIdIgee 98a1g 9oIa @ag

Candidate Answer: 3) strengthen reasoning skill of the students
JANTAIPTQ 9B @8I QR

QID : 724 - A teacher training intern wants to make a lesson plan on the theme ‘Shelter’. What
kind of teaching method will be helpful for the intern?

@66 S9e 99N RIS ‘AN’ JAT 690 IRG A0 IARel SR KEQIg FI62 | 91 URHR J98 A8d
290 AR AR 297?

Options:

1) Making innovative teaching aids on the topic ‘Shelter’

G G TR ARGe FVCRR ALNAG! 9D

2) With the help of a guide, making questions and answers for the students which help them for
their exams

FIRea AUTIFI6R, AR 94 6 AAQ G2 @Al Gl FI6LR VIR FG IR ARIAS) F6Q

3) Writing only important points

PRIAIS RIS 994G 6RIg

4) All options are correct

Q08 Gag A0

Correct Answer: 1) Making innovative teaching aids on the topic ‘Shelter’
2GR G VAR ARG FACRR ALAG! 9D

Candidate Answer: 4) All options are correct
A08 Gag A0

QID : 725 - What is the best method for a science teacher to teach the concept of ‘Physical and
Chemical change’ to class VI students?

Q¢ FRIPQ 909 AR VI 658a e ‘SIIae 8 AAATR IREeR’ MIQEIT FEHARIQ ACTIRF ARG @47
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Options:

1) By demonstrating different experiments so that students can observe and learn
Q6 0IR-AAINI R6a QI6E AR AT6QVE A6 B FH6E AR

2) By writing some examples of physical and chemical change

SRR 8 QAALG? AAIERR 62015 AILAE 6RHP

3) By asking students to memorise the definitions of physical and chemical change
JR121Q SINIAR I9° QIARFR ARREAR LRI 9IY AAES QLR ARIFIER

4) No option is correct

6xl6d 9eg A0e gee

Correct Answer: 1) By demonstrating different experiments so that students can observe and
learn
Q6 9IR-AQINI R6a QI6E ARILIAI AT6QVE A6 B FH6E AR

Candidate Answer: 2) By writing some examples of physical and chemical change
SIQ1ER 8 QALER AALGRR 6R0IT AAILAE cmelg

QID : 726 - Which of the following is the key feature of Formative Assessment in science?
Q70 Q€T ARIFEQ TACFTR 2YI6AAEFERR €7 6581F,?
Options:

1) It is conducted at the end of the year
G Qd 68960 ARIRG 99

2) It is diagnostic in nature

21 6208 g9oa Glesalade

3) It encourages rote learning

42l 99 @8 JEQI AR |L G2

4) No option is correct

6x16d @aa Q0@ 62

Correct Answer: 2) ltis diagnostic in nature
2 6208 g9Ga QleeaIede

Candidate Answer: 3) It encourages rote learning
N2l 89 98 JYQIQ AIR egle {2

QID : 727 - Summative Assessment in science should mainly focus on

SRIFQ AAYS AU IR Q @ 97 Go® @9l @S|
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Options:

1) testing of mainly the practical skills

Qe @Q@I@Q QYL QDN XAG

2) testing important theoretical concepts

2294 G1ge dIRdI AR

3) assessing observational skills

AdeQnd @86 RIae

4) diagnosing the areas of difficulties of students
JR1gha 2gRIQ 6889F fda @GSl

Correct Answer: 4) diagnosing the areas of difficulties of students
JR1dia 2gUIQ 68996 Fda aGal

Candidate Answer: 1) testing of mainly the practical skills
Qe ‘@Q@I@@ QYL QDN XA

QID : 728 - While discussing a concept of science, a science teacher firstly explained general rule
and then the examples were illustrated. What method of teaching is used by science teacher?

GRINQ QG I 69R UCRIFRIA ACL, F68 FRIF TR JaSH AIQS FAAT QI RTALIEM I GIAAER

QAILAEYE TG0 @l 62N FRIFQ FFP RIQ ARGEQ AVNAIF F9E?
Options:

1) Deductive method
GeRoR a8%

2) Inductive method

ARYAR ARG

3) Cognitive method
RIFC 9SG

4) Skill lesson

@Rl dIO

Correct Answer: 1) Deductive method
GRR0R a8%

Candidate Answer: 1) Deductive method
GeRoR a8%

QID : 729 - Lesson planning in science should be guided primarily by the consideration of

FRFQ A0 AARER! gleIFiaaIea F6R0RI A4 FIRS KA RSB
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Options:

1) meeting the needs of the child performing average in the class
KUY QLG AR ARSI ABFQ QITAI Y K9

2) satisfying parents

Qg8 JRIAIGIQ

3) the completion of whole syllabus

gel Aepaiaq g

4) burdening the children with work

@6 Kled 5%16@61 QIS

Correct Answer: 1) meeting the needs of the child performing average in the class
KUY QLR AR FAQI ABNFQ VIER! YA *Q

Candidate Answer: 1) meeting the needs of the child performing average in the class
KUY QLG AR AR ATFQ QITAI Y K9

QID : 730 - How ‘newspaper reading’ in a science class will be helpful in teaching learning
process of science?

P98 IR GRIQ 6g66Q ‘ARG VG FRIFQ AI0QIG G IHRR! 6996Q ARIAR 297
Options:

1) It enhances the child’s perception and make him aware about the outside world
92l IRl Q QART QIFE I9° ALAA B¢ AR BIRlg A6FFR 9

2) It has no significance in science classroom

SRICRQ 65896 A 6117 QI 68 R

3) It doesn’t add any experience in child’s learning

G 98I9Q J¢QIq 6a19d 2GRS 9B K6Q Q1T

4) No option is correct

6x16d @aa Q0@ 62

Correct Answer: 1) It enhances the child’s perception and make him aware about the outside
world
gl IRl Q AURE I I&° QITIAQ §F AHRER QILIq ARV K9G

Candidate Answer: 4) No option is correct
6xl6d 9ag A0@ gea

QID : 731 - Which of the following statements regarding adaption of animals to climatic conditions
is correct?

I. Many animals live on trees in tropical rainforest

II. Some birds migrate to warmer regions when winter arrives

Il Polar bears have white furs to protect themselves from predators

R4Ig A2 JGIFINT god AARIa ATN6a A7 Q 609 9814 A0R?

| JIYARIA 6QFTEQR 6Q FBYLR 6Q 26RR YIS QI KB

1. @8 a9 S16QIR AR ANY QB 2ERY ARBAG g2AT

l1. 62IRIQ FARYFR AR UG OIQ F65] AT KA IR AQ! 6RIFI 2l
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Options:

1) Both Il and IlI
11 9<° 1l Q@
2) 1, 1land I

[, 11 Qe
3)Both I and 11l
I 9@° 1l Q@

4) Only Il

6@am Il

Correct Answer: 2) |, Il and Il
[, 11 ge° I

Candidate Answer: 2) [, Il and lll
[, 11gQ° I

QID : 732 - Which of the following element has valency 47?

FIRO 629 AURIRFFRR F1J6Q QUIRIAT 4 26T ?
Options:

1) Aluminium
QAR

2) Boron

6QR

3) Silicon

daes

4) Phosphorous
FATAUL

Correct Answer: 3) Silicon
Aeee

Candidate Answer: 3) Silicon
daes

QID : 733 - Sound waves are

9% st 2l
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Options:

1) mechanical and longitudinal waves
ARR 99° AQETY oot

2) mechanical and transverse waves
QIAR 9e° gIgRId Gaet

3) electromagnetic and transverse waves
e@g@q 691g@ 9a° gIQaId cae

4) electromagnetic and longitudinal waves
65900 691gR1a 1a° AQeaY oaet

Correct Answer: 1) mechanical and longitudinal waves
AIRR 99° AQETY oot

Candidate Answer: 2) mechanical and transverse waves
ARR 99° JIQRId GREt

QID : 734 - Two bones are connected to each other by which connective tissue?
Q0% 2@ J09Q ATS 699 A°6AIRR TAG QIR YD 99 2
Options:

1) Ligament
ARQeR1

2) Tendon
REQ(6TCBIR)
3) Areolar
CEUMQA

4) Cartilage
oQ8Ig

Correct Answer: 1) Ligament
ARIeR1

Candidate Answer: 4) Cartilage
SQaNY

QID : 735 - The gravitational force between two objects is G. If the distance between the two
objects is doubled, then the gravitational force becomes

Q06 Qg MYIFFd 5@ 6208 G | 98 9AG AR YRR 9aQ T4 99 6969 A2 63 g9l

Options:

Correct Answer: 4) G/4
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Candidate Answer: 2) 2G

QID : 736 - According to modern Periodic law, “properties of elements are periodic function of
their

ARJAR AdIngia RS 29A6Q, "RAAFYFAR 6599, 90w 6208 I Q adiagde i
gﬂ"l

Options:

1) atomic mass
TR QIR

2) atomic numbers
aaglig] Qg

3) mass of electron
e QY

4) mass of proton
641962 QIR

Correct Answer: 2) atomic numbers
aQgIg Qg

Candidate Answer: 3) mass of electron
DD QY

QID : 737 - Which of the following lens is used by a person suffering from Hypermetropia?

RAIREAEITANG 2L 9B F60R AT 67 AR @QS?
Options:

1) Bifocal Lens
QRETIRI® 60F

2) Convex Lens

QAR 699

3) Concave Lens
RAQIQ 67Q

4) No option is correct
6xl6d Qag A0e gea

Correct Answer: 2) Convex Lens
QAR 699

Candidate Answer: 2) Convex Lens
QAR 699

202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1calbe04e5&q=0DdmYjJmNzIONGM5YzA2ZjcwM,;. ..

64/71


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

10/8/2019 Odisha Teacher Eligibility Test

QID : 738 - Which of the following contraceptives can be used to prevent sexually transmitted
diseases (STDs)?

64le A°GI8 (NAGET) g6l AR A7) FEIT IRREARIA LR @Al AIRAIER?
Options:

1) Copper -T

@da —T

2) Oral Contraceptive Pill
699R SRREARIR 9F

3) Loop

Q9

4) Condom

@RLe

Correct Answer: 4) Condom
@R

Candidate Answer: 4) Condom
@Eee

QID : 739 - Due to the decreased level of which hormone osteoporosis mainly occurs in females?

2Q641E 2361 Y AR FIQEE IS ABRIERR F163 696 AN?
Options:

1) Testosterone
664601469

2) Estrogen
2689

3) Progesterone
Je@eqae

4) Adrenaline
it

Correct Answer: 2) Estrogen
Q689

Candidate Answer: 3) Progesterone
Je@eqae

QID : 740 - A fan produces a feeling of coolness and comfort during hot weather because

NG I Q¢ it Aol d1one! NQ° 2lQ¢l 8@@@ AARAQ @A
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Options:

1) thermal conductivity of air increases
Qlg P19 ARSI Q& Al

2) fan supplies cool air

G QAL AP AR

3) perspiration evaporates slowly

Sl A16Q 16 UV D4

4) perspiration evaporates quickly

Gl 9 WIEQ AUV F9

Correct Answer: 4) perspiration evaporates quickly
Gl 9O WIEQ QWA L9

Candidate Answer: 4) perspiration evaporates quickly
Gl 9O QIER AV ¥

QID : 741 - Medicine used for indigestion is

Q22eda A §9e0 Aa |
Options:

1) Antibiotic
S1Q1¢-9G6UU(2IFRETR)
2) Antacid

ORISR

3) Analgesic

6RYRRISI@

4) Antiseptic

R

Correct Answer: 2) Antacid
2RISR

Candidate Answer: 2) Antacid
2dellg@

QID : 742 - Sodium chloride (NaCl) is a salt of

6QIZ¢ 6] (NaCl) QD QR4
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Options:

1) Strong acid and weak base
A4IR1 e 9e° QIR 682

2) Weak acid and weak base
Q9% ZIde 9e° &R 699

3) Strong acid and strong base
B4IR1 YIde Ie° IR 69K
4) Weak acid and strong base
Q9% gIde 9a° S@9IR1 662

Correct Answer: 3) Strong acid and strong base
36101 YIde e IBlIR1 69K

Candidate Answer: 4) Weak acid and strong base
Q9% 2Ide 1a° S@49IR1 662

QID : 743 - When does menopause occur in females?

AZRIINEA FIIEA 6FIERITGR 6R6R G677
Options:

1) When puberty Starts

QUQR ¢ 99

2) When ovaries shrink

646Q GQIea AT 99

3) When menstruation starts in women
2RIEQ FIIEA 6969 AIdR FIQ 2R g9

4) When egg cells are not released by ovaries
696Q GFQ 6919 37190 QI F9e 99 QIF

Correct Answer: 4) When egg cells are not released by ovaries
646@ GFjQ 6919 G910 QIal 596 99 QI

Candidate Answer: 3) When menstruation starts in women
AZRIEQ FIIER 6969 IR G 2R g9

QID : 744 - Which of the following is used in the manufacturing of Magnets?

AIFERT GeIG @AQIEQ F¢ Q4T ge 997
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Options:

1) Zinc

<@gl

2) Copper
a4

3) Iron

Qe

4) Aluminium
YIpacae

Correct Answer: 3) Iron

el

Candidate Answer: 1) Zinc
<@gl

QID : 745 - Chemical name of White Vitriol is

LG RGTBAR AALFR FIE |
Options:

1) Copper Sulphate Pentahydrate
U] ARETS 69QILINELT

2) Zinc Sulphate Pentahydrate
T AR 6dQLINELS

3) Zinc Sulphate Heptahydrate
T ARCTS 62UISIRLINELT

4) Copper Sulphate Trihydrate
@A AdIMETE QIRNLINELST

Correct Answer: 3) Zinc Sulphate Heptahydrate
T ARCTS 62UTIATIRCSS

Candidate Answer: 4) Copper Sulphate Trihydrate
U] ARETE CIRLRACES

QID : 746 - Which of the following is a diatomic element?
I. Oxygen

II. Sulphur

I1l. Argon

IV. Chlorine

Q9 Q4G QISR aAIQIe?
l. 25698

Il. ARTIQ

. 219e

IV. 6188
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Options:

1) land IV

[ q@° IV

2) Only 1l
6@aw Il

3) 1, land il
[, 11 ge° 1l
4)1, Il and IV
I, 11 9@° IV

Correct Answer: 1) land IV
I 9@° IV

Candidate Answer: 2) Only llI
c@ae I

QID : 747 - Which organ of the human body releases Insulin hormone?

FI9Q 6929 @R AT AAYAR 2AER F8AQE F6Q?
Options:

1) Liver

d9e

2) Small Intestine
Salie

3) Thyroid Gland
2IRAEAS 98

4) Pancreas

a9 16

Correct Answer: 4) Pancreas
GO

Candidate Answer: 4) Pancreas
29 19

QID : 748 - Because of , tail of a comet points away from the Sun.

Q RIQE, YFIERLTA MG A 01 GR6R AES!
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Options:

1) gravitational force of earth
92e1a ALied1a 93

2) Solar heating

6dlQ @19

3) Sun’s magnetic pressure
g64da 691g@19 Q1a

4) Sun’s radiation pressure
geda Saad 9Ig

Correct Answer: 4) Sun’s radiation pressure
geda Saad 9Ig

Candidate Answer: 1) gravitational force of earth
92e1a ALIRd1a 93

QID : 749 - A boat rises up as it enters sea from a river because

QG 69191 @91 0IQ ACEGQ 6681 Q62 A6 RAER REOTR 1A I
Options:

1) sea water is softer than river water

AQ1Q AIFQ 0IQ AFELR A& YA

2) density of sea water is higher than river water
Q210 FERQ GIZ AR ARQ AR 634

3) sea water is harder than river water

AQ1Q Aldia 0IQ A9 AE S

4) density of river water is higher than sea water
Q1R AIFQ ARE A9 AIGQ OIQ 694

Correct Answer: 2) density of sea water is higher than river water
Q1A F6RQ 9IF AELR AIGR ARG 6%

Candidate Answer: 3) sea water is harder than river water
AQ1Q &R 0IQ AR QIS 9D

QID : 750 - In which organism, does double fertilisation occurs?

699 F19Q, 99F AYTTARESIAR ) HTB §49?
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Options:

1) Human Beings
Q&S

2) Reptiles
AQ1ga

3) Angiosperms
NeR6aI

4) Gymnosperms
GoeqiQie

Correct Answer: 3) Angiosperms
Naalelle]

Candidate Answer: 3) Angiosperms
NeR6aId
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